
Year 5 Homework A – 29th September 2023

Multiplication

Reasoning Shape

6 x 5 = .

7 x 4 = .

8 x 3 = .

9 x 2 = .

12 x 9 = .

11 x 8 = .

10 x 7 = .

9 x 6 = .

5 x 12 = .

4 x 11 = .

3 x 10 = .

2 x 12 = .

Place Value

Remember to also have a go at TTRS (Sound Check), Spelling Shed 
and Lexia (if you have it)! All links are on the class page.

Forgotten your login? Let me know!

What is the perimeter of the shape below?

Perimeter

Ben is partitioning 402,370 into three parts.

Is he correct? Explain your answer.

Circle the greatest number in each pair.

1. Tick all the acute angles.
 Remember: Acute angles are less than 90° (a right 
angle).

2. Tick all the obtuse angles.
 Remember: Obtuse angles are more than 90° but 
less than 180° 
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